Homework 10A.  Maximum Average Power Theorem
18-39. Find the load impedance ZL for the networks below for maximum average power to the load, and find the maximum average power to the load. [image: image1.png]E =120V Z£0°
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18-41. Find the load impedance RL for the network below for maximum average power to the load, and find the maximum average power to the load. 
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 18-45 a. 
For the network below, find the value of RL that will result in maximum average power to the load.

  
 b.  
Using the results from (a), find the maximum average power to the load.
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SEE NEXT PAGE FOR HINTS.

HINTS

Some answers:

39 a:  8.32 angle 3.18, 1198.2 W

39 b:  1.614 W

41:  40,000 ohms. 25 Watts

45:   This one is the special case where the load impedance cannot be

       any value, and you have to do the best you can with what you have.  Here the j part of Zload MUST be j2000 ohms.

